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A.
Vertically opposite angles are the angles opposite each other when two lines cross.

In this example x( and y( are 

vertically opposite angles.  


Vertically opposite angles are congruent i.e. they have the same size.

Congruent comes from Latin congruere, "to agree". So the angles "agree".


Example: 
Find angles x°, y° and z° below 



Because z° is vertically opposite 35(, it must also be 35(.



y° and z° form a straight angle (180() so 



y° = 180( – 35( = 145(   


Because x° is vertically opposite y(, it must also be 145(.
B.
Copy each diagram and fill in the sizes of the missing angles.


Do not use a protractor.
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